
FOOTPEG KIT
HONDA X-ADV ‘18 

HX7123-18

X1. FOOTPEG KIT
X2. SPACER H12.5MM
X4. SPACER H17MM 
X2. M8X80
X4. M8X35
X1. M8X40
X4. X4. WASHER Ø8
X1. SELF-BLOCKING NUT Ø8

KITASSEMBLING INSTRUCTION

M8X40

WASHER Ø8

SPACER H17MM

SPACER H12.5MM

M8X80

M8X35

SELF-BLOCKING NUT.
Ø8


